To help with youwr Maths today syou will need some ohjects to sort. You
could wse cereal such as shreddies .or cheerio's, pasta or even toys like Lego
or heads. You will need at least 30 of the same .object.

Dirvisi _ Shari
When .an .amount is shared equally, what youre calculating is how much
each .group iod ore sharing hetween gets.

For example - This picture
shows |5 sweets being
shared between 3 girls
(group) Each girl (group)
gets 5 sweets s0 the
Adivision would be

153 =5

In a sharing probhlem syou know how many groups there are, iou just need
to find .out the amount in each group.

Dinvisi _ G .
Grouping is ~veriy similar to sharing bhut in a grouping problem you know the
amount in each group but not how many groups.

In this example we needed to
share 15 apples into groups
of 5 so the calculation is
15+5=13

- You can see that each groip
ool N has 5 apples and there are 3
apples in each group.




Use the .objects you have gathered to answer the following questions.

[) Share 20 .ohjects equally between the &4 circles below. How many
wohjects are there in each circle? Draw the ohjects in the circles/groups
below then wirite the .answer next to the calculation wunderneath

OO0OC

20 + 4 =
2) Divide 18 objects into groups of 3. How many groups do you have?
18 + 3 =

3) Divide 25 objects into groups of 5. How .many groups do iyou have?
25 + 5 =

L) Share 24 objects equally into the three joars helow. How many .objects
are there in each jar. Draw the objects in the jars below, check each

jar has the same rumber of ohjects then write your answer next to the
calculation wnderneath.

= = =
N

24 + 3 =

5) Divide 30 objects into groups of 6. How many groups do you have?
30 =+ 6 =



At Chesswood, when we divide using .o numberline we alw.oys jump up the
numberline.
Your rumberline will alw.ays start at 0 .and end .at the number you .are

1%5 %5 1x5 This example shows the
calculation 15 +5

+95 +5 +5

¢ 3 AR EEE As syou can see O is at the start

1

; % 1 of the line and 15, the number
0 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 ’
being divided, is .at the .other end.
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N.otice that as we are dividing by

5, all the jumps that have heen 1%5 1%5 1x3
made are 5. It is hasically youwr 5 +5 . .
times table. The first jump goes to
5, the second jump goes to 10 .and
the last jump goes to |15, which is
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1x5 ) . .
1x5 1x5 X u/sm,g,an,uanzdm.em,w,a,d,du,p
+5 +5 +5 the jumps you have made. This
=+ numberline shows 3 jumps 50
0 1 2 3 4 5 6 7 8 9 1011 12 13 14 15

15 +5 = 3

Here .are 2 more examples of division on a numberline

1x4 1x4 1x4 1x4 1x4 This .one shows
/MMW\ 20 + 4
T T T T DT I T I The jumpe ane n i

The end nuumhber is 20

1x3 1x3 1x3 1x3 1x3 1x3 This .one shows

3 +3 +3 +3 +3 +3 18 + 3
Cr bt The jumps are in 3s
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 The s 18




Now it is smour turn. Use the numberlines helow to complete the division
questions. Remember to put O .at the start of yowr rumberline .and the
number heing divided .at the end.

The rumber you are dividing by is the amount you jump up in.

Don't forget to add up how many jumps you have made to find wyour

Lanswer.

1) 16 + 2

2)20 + 5

3)2] + 3 =

L)I6 + 4 =

5)27 +3 =




Using chunking on .o rumberline allows ws to divide higger numhbers without

Lets look at 95 +5

This is what owr numberline would look like if we jumped up in 5's. Look
how many jumps we would have to .count!

Or we could do this

10x 5

By wsing owr times table knowledge we can reduce the amount of jumps we
need to do to find owr answer.

[f we then count up how many times we hove multiplied by 5, we can find

O Answer.

10x5+2x5+2x5+2x5+2x5+1x5=19 lotsof 5

Or if syou are feeling super clever you may be able to reduce the jumps

10)55 4x5 4x5

" \ i
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10x5 + 4x5 +4x5+1x5=19lots of 5



Now it is smour turn. Remember to follow these steps

1) Write O .at the heginning .of the rumberline below the question and the
2) Jump along the nwmber line as dictated by the rumber you are dividing
by. Try to take off large chunks like in the example above, 10 x the
number you are dividing by is alw.ays .o good one to start with.

3) Add up the jumps.

) 52 + 4 =
>
2) 42 + 3 =
»
3)80 = 5 =
>
L) 6h + 4 =

5)5 + 3 =




Today is ahout procticing oll the division skills you hove learnt this week.

Choose 5 .0f these division .calculations helow to complete. Follow the same

Your teacher will mark your work todoy so make sure iyou show off ioir
knowledge and challenge yourself to ‘Go the Extra Mile' .and ‘Be the Best You

Can Be

he = 4 = 88 = 4 = 96 - 4 =
39 + 3= 63 + 3 = 72 + 4=
75 + b= 90 + b = 120 + 10 =

.
2)

.
3)

,
L)

,
5)




Answer the following questions using your knowledge of division .on a
numberline.  You could highlight the key information and write a calculation

to help you.

) Olivia took & friends to a local farm to pick apples. They

Picked 40 .apples in total. How many apples will each .one get if
They decide to share them equally?

2) Samantha haked 32 cakes for her children. [f the cupcakes
are shared equally .among her four children, how many
cupcakes will each child .get?

3) Sally plants 30 runner bean seeds in rows of 5. '
How many rows will there he? '

4) Sam shares out 28 diamonds bhetween 2 chests
How many diamonds are in each chest

5) Ben has 63 spare stickers that he doesn't want any more.
[f he shares them out equally bhetween his 3 friends, how
marny stickers will they get each?




Once you hove completed syour w.ork each doy, mark your answers using
this sheet. If any of your answers .are incorrect, hove o go at w.orking out
where iyou went wrong and correcting them so it matches the .answer sheet.
[f you are still struggling, take .o photo of your w.ork and email it to Miss
Monger .and your class teacher. They will try to help you wnderstand where
sou went wrong ond explain how to answer the questions correctly.

Once your work is finished, email it to yowr teacher so0 she can .celebrate

MJOME  SUCCRAS MWt ALouL.

Lesson | - Sharing and Grouping

)20 + & =5 L) 24 + 3 =38
2) 18 + 3 =6 5) 30+ 6 -5
3) 25 + 5=5

Lesson 2 - Divide wsing small jumps on a numberline

6)16 + 2 = 8 L) 16 + &b = L4
7)20 + 5 =4 5) 27 +3 =4
8)2l +3=7

Lesson 3 - Divide wsing chunking .on a rumberline

6) 52 + 4 = |3 4) 6L + L = |64
7) L2 + 3 = |4 5) 51 + 3 =17
8)80 + 5 = 1[6

Lesson 4 - Divide wsing chunking on o nuwmberline

52 =+ 4 =13 88 + 4 = 22 9 + 4 =24
39 + 3= 13 63 + 3 = 21 72 + 4= 18
75 + 5= 15 90 =+ 5= 18 120 = 10=12

Lesson 5 - Solve division word problems

1) 0 .apples each L) |4 diamonds in each chest
2) 8 .cupcakes each 5) 3| stickers each

3) 6 rows



